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1. What is the responsibility of the Office of the
Superintendent of Financial Institutions (OSFI)?
A. To issue national currency and maintain Canada's monetary

policy
B. To regulate and supervise federal financial institutions in

Canada
C. To oversee foreign investment in Canada
D. To manage Canada's retirement pension schemes

2. What are issued shares in the context of finance?
A. Shares authorized by the government
B. Shares held by the board of directors
C. Shares that have been sold by a corporation
D. Shares designated for a specific project

3. What role does a Greensheet play in the communication
strategy of a company?
A. Managing employee grievances
B. Informing customers about product recalls
C. Providing salespeople with details about new public issues
D. Negotiating mergers and acquisitions

4. What is a convertible bond?
A. a bond with an option allowing the bondholder to exchange

the bond for a specified number of shares of common stock in
the firm.

B. a protective provision written into the trust indenture of a
company's debenture issue.

C. sums of money set aside out of earnings each year to provide
for the repayment of all or part of a debt issue at maturity.

D. Government of Canada bonds that mature in 3-month,
6-month, or 12-month maturities.

5. What do you call preferred shares that the holder can force
the company to buy back as market rates rise?
A. Confirmation
B. Buy-in
C. Retractable preferreds
D. Delayed floater preferred
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6. What is an index fund?
A. A type of fund that invests in high-risk assets
B. A type of mutual or exchange-traded fund designed to

replicate the performance of a specific market index
C. A fund that guarantees a fixed return over time
D. A fund that exclusively invests in commodities

7. What are the key benefits of investing in bonds?
A. Potential for high returns on equity investments
B. Regular income through interest payments and preservation

of capital
C. Only capital gains through market appreciation
D. A way to enhance volatility in an investment portfolio

8. What advantages are associated with common shares?
A. Potential for high interest rates
B. Guaranteed dividends
C. Fixed return
D. Potential for capital appreciation, dividends, voting rights,

limited liability, and marketability

9. What is the natural unemployment rate?
A. The rate when the economy is booming
B. The rate when the economy is in recession
C. The rate when the economy is at full employment
D. The rate when the economy is experiencing deflation

10. When does a bond sell at a premium?
A. If the bond price is less than $1000
B. When YTM is lower than the coupon rate
C. Current yield is low
D. When interest rates decrease
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Answers
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1. B
2. C
3. C
4. A
5. C
6. B
7. B
8. D
9. C
10. B

6Sample study guide. Visit https://canadiancsc.examzify.com for the full version

SA
M

PLE



Explanations
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1. What is the responsibility of the Office of the
Superintendent of Financial Institutions (OSFI)?
A. To issue national currency and maintain Canada's monetary

policy
B. To regulate and supervise federal financial institutions in

Canada
C. To oversee foreign investment in Canada
D. To manage Canada's retirement pension schemes

The Office of the Superintendent of Financial Institutions (OSFI) plays a crucial role in
maintaining the stability and integrity of the Canadian financial system by regulating and
supervising federal financial institutions. This responsibility includes banks, insurance
companies, and trust companies, ensuring they operate safely and soundly, adhere to
relevant laws and regulations, and manage their risks effectively.   Through its oversight,
OSFI helps to protect depositors, policyholders, and pension plan members, contributing
to the overall stability of the financial system and public confidence in financial
institutions. This regulatory role is essential for sustaining consumer trust and
safeguarding the economy against financial systemic risks.  The other options present
duties that do not fall under OSFI’s purview. For example, issuing national currency and
maintaining monetary policy is the responsibility of the Bank of Canada. Oversight of
foreign investment in Canada is managed by the Investment Canada Act and related
regulatory bodies, while managing retirement pension schemes involves specified
pension regulators and not OSFI directly.

2. What are issued shares in the context of finance?
A. Shares authorized by the government
B. Shares held by the board of directors
C. Shares that have been sold by a corporation
D. Shares designated for a specific project

Issued shares refer to the total number of shares that a corporation has sold to investors.
This includes both shares sold during an initial public offering (IPO) and any subsequent
offerings. The other options are incorrect because - Option A refers to authorized shares,
which are the maximum number of shares that a company is legally allowed to issue. -
Option B refers to shares held by the board of directors, which may or may not include
shares that have been sold to investors. - Option D refers to designated shares, which
may be used for a specific purpose such as employee stock options.
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3. What role does a Greensheet play in the communication
strategy of a company?
A. Managing employee grievances
B. Informing customers about product recalls
C. Providing salespeople with details about new public issues
D. Negotiating mergers and acquisitions

A Greensheet is a document that provides salespeople with details about new public
issues, such as upcoming product releases, promotions, and changes in company policies.
This helps salespeople effectively communicate with customers and make informed sales
pitches. Options A, B, and D are incorrect as they revolve around different tasks or
objectives that do not involve communicating with customers or internally within the
company. It is important for companies to have a clear communication strategy in place
and the Greensheet is a tool that contributes to this strategy by keeping salespeople
well-informed and prepared for customer interactions.

4. What is a convertible bond?
A. a bond with an option allowing the bondholder to exchange

the bond for a specified number of shares of common stock in
the firm.

B. a protective provision written into the trust indenture of a
company's debenture issue.

C. sums of money set aside out of earnings each year to provide
for the repayment of all or part of a debt issue at maturity.

D. Government of Canada bonds that mature in 3-month,
6-month, or 12-month maturities.

A convertible bond is a financial instrument that combines the features of a bond and a
stock option. This means that the bondholder has the option to exchange or convert the
bond into a specified number of common shares in the issuing company. This option
provides the potential for increased returns if the company's stock price rises.       
Option B is incorrect because a protective provision is a term in a bond agreement that
outlines certain conditions that must be met in order to protect bondholders' interests.    
Option C is incorrect because this description refers to a sinking fund, which is a way for
companies to set aside funds over time for repaying bond debts.        Option D is
incorrect because it describes a specific type of government bond issued by the
Government of Canada with different maturity options, which is different from a
convertible bond.
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5. What do you call preferred shares that the holder can force
the company to buy back as market rates rise?
A. Confirmation
B. Buy-in
C. Retractable preferreds
D. Delayed floater preferred

Retractable preferreds are a type of preferred shares that gives the holder the ability to
force the company to buy back their shares as market rates rise. This means that if
interest rates increase and the market value of the preferred shares falls, the holder can
sell their shares back to the company at a predetermined price. This feature provides
protection to the holder against potential losses in a rising interest rate environment.
The other options, confirmation, buy-in, and delayed floater preferred, are not commonly
used terms in finance and do not accurately describe the features of retractable
preferreds.

6. What is an index fund?
A. A type of fund that invests in high-risk assets
B. A type of mutual or exchange-traded fund designed to

replicate the performance of a specific market index
C. A fund that guarantees a fixed return over time
D. A fund that exclusively invests in commodities

An index fund is accurately described as a type of mutual or exchange-traded fund
designed to replicate the performance of a specific market index. This investment
strategy allows investors to gain exposure to a broad range of securities while aiming to
mirror the returns of a particular index, such as the S&P 500 or the TSX Composite
Index.  The appeal of index funds primarily lies in their passive management approach,
which typically results in lower fees compared to actively managed funds. Since index
funds are composed of the same components as the index they track, they provide
investors with diversification and reduce the risks associated with investing in individual
stocks. By investing in an index fund, investors can benefit from the market's overall
performance rather than betting on the success of specific securities.  Other options do
not accurately represent the features of an index fund. For example, one option mentions
investing in high-risk assets, while index funds typically aim for stable, long-term growth
and diversification rather than focusing on high-risk investments. Another option refers
to guaranteed fixed returns, which is not characteristic of index funds, given that they
are subject to market fluctuations. Lastly, the mention of exclusively investing in
commodities is incorrect, as index funds can encompass a wide array of asset classes,
including stocks and bonds, not just
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7. What are the key benefits of investing in bonds?
A. Potential for high returns on equity investments
B. Regular income through interest payments and preservation

of capital
C. Only capital gains through market appreciation
D. A way to enhance volatility in an investment portfolio

Investing in bonds offers several key benefits that make them an attractive option for
many investors, and regular income through interest payments combined with the
preservation of capital stands out as a fundamental advantage.   Bonds typically provide
investors with fixed interest payments, known as coupon payments, which offer a
predictable stream of income over time. This can be particularly appealing for those
looking for stability in their investment returns or for individuals who are in retirement
and require regular income. Additionally, bonds are often considered less risky than
stocks. While stocks can fluctuate significantly in value, bonds can help preserve capital
because they are generally repaid at par value upon maturity, assuming the issuer does
not default. This characteristic makes bonds a suitable option for risk-averse investors. 
Furthermore, while equities may offer the potential for higher returns, they come with
increased risk and volatility, which is not the case with bonds. Investors looking to
balance their portfolios often incorporate bonds to reduce overall risk while ensuring
consistent income. This combination of features is what makes investing in bonds
particularly beneficial, especially for those seeking both income and capital protection.

8. What advantages are associated with common shares?
A. Potential for high interest rates
B. Guaranteed dividends
C. Fixed return
D. Potential for capital appreciation, dividends, voting rights,

limited liability, and marketability
Common shares offer multiple advantages, including potential for capital appreciation,
dividends, voting rights, limited liability, and marketability. This means that investors
can potentially see their investment grow in value over time, receive a portion of the
company's profits as dividends, have a say in important company decisions through
voting rights, and have limited liability for any losses the company may experience. In
contrast, options A, B, and C do not accurately describe the potential advantages of
common shares. Option A mentions "high interest rates," which are typically associated
with fixed income investments such as bonds, not common shares. Option B suggests
that dividends are guaranteed, which is not always the case for common shares as they
are dependent on the company's profitability and decision to issue dividends. Option C
mentions a "fixed return," which is not an inherent characteristic of common shares as
their value can fluctuate.
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9. What is the natural unemployment rate?
A. The rate when the economy is booming
B. The rate when the economy is in recession
C. The rate when the economy is at full employment
D. The rate when the economy is experiencing deflation

The natural unemployment rate is the unemployment rate that exists when the economy
is at full employment, meaning that most people who want to work are able to find
employment. This rate accounts for structural and frictional unemployment, but not
cyclical unemployment. Option A is incorrect because the economy can still be booming
while the natural unemployment rate remains steady. Similarly, option B is incorrect
because the economy can be in recession while the natural unemployment rate remains
constant. Finally, option D is incorrect because the natural unemployment rate focuses
on employment levels, not prices.

10. When does a bond sell at a premium?
A. If the bond price is less than $1000
B. When YTM is lower than the coupon rate
C. Current yield is low
D. When interest rates decrease

A bond sells at a premium when its yield to maturity (YTM) is lower than the coupon rate.
This means that the bond is offering a lower interest rate than what is currently available
in the market. Options A and C are incorrect because they do not specifically relate to the
relationship between YTM and coupon rate. Option D may seem like a possible answer,
but it does not specifically address the premium price of a bond. In fact, when interest
rates decrease, bond prices may increase, however, this does not necessarily mean the
bond is selling at a premium. Therefore, B is the most accurate answer.
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